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CHAPTER—4
PRESENTATION OF DATA

I Choose the correct answers (each question carvies 1 mark),

1) In qualitative classification, classitication is done on the

basis of

a) Attributes ke phivsical status, nationaiity ¢tc.

by Characteristics like age: height. production, income ete

¢) Thne such as houts, days, weeks. months ete

d) Place bike village, town, block, distsicl, state, nation ele
2 ) A histogramis a

&) One dimensiona! diagram by Two dimensional diagram
<) Three dimensional diagram d} four dimensional diagram
3) Frequency polygen is used in the presentation of

#) Ungrouped data b) prouped data:
¢) Buth types of data o) none of these
4

e

Data represented through a histogram can help in finding
graphically the
i) mcai b mode cimedian  d) albofteabove
Ogives can he helpful in locating graphically the
a) mode b isosn ¢) median
Ans:Da2) b e b Se

II Fillin the bianks.(lf,ﬂch'(_guestiml -;arries 1 mark)
1) In tabwlar presontation, data is presented T
23 Arithmctic Wac eraphisalso calted
3) Component Bar diagramsare also called
4} Body of the table éontaing.

5

ol

d] none at'the above

Ans 1) Colums apd rows
3) Subdivided

2) Thma bckon o
A) N b mstion

LI Answer the following questions in a werd / seatence (each
question carries I mark).

1} What do you mean by textual presentation of data?
A descriptive form ef presentation of data written m paragraphs is
called Textual Presentation of Data,

2) What do you mean by frequency polygon?

A frequency pelygon fs a line graph having more than four sides:

3) Whatis caption?

Thie ieadings for vertical columns is called captions.

4) What do you mean by stubs?

The designations of the rows are catied stubs or stith tems.

IV Answer the following questions in about four sentences.
(Each question carrics 2 marks) .

1) What are four kinds of classifications used in ta whation?

1) Singlc table 2) Double table 3) Tripple table 4) Multipal table

2) What is quantitative classification? Give an example,
Classification of data en the basis of quantitative eharacteristics
such as height, weight, inconse, import, cte,ds called quantitative
classification. 3
Fox Example : Weight, height, marks scored. income, cxpenditug
ot: arc the quantitative classitication.

3) Write the meaning of temparal elassification with an exampile.
Classification of data on the basis of timeis called temporal
or chronological classification.

In chronological classification the cotlected data is grouped with
reference to time, such as, years, months, wecks, etc. These are
classified normally in ascending order of time.

4

What is spatial classification?
Classification of data on the basis of locality country, city, village
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VI Answer the following iﬁ-aeijmé_l;ftwac_u(x,;enfenges;
{Each question carrics 6 marks) :
1} What is tabulation? What 'ﬁl‘eihﬁ_pm‘{sﬁéﬁ 'ta"[ile?.Ex_Rla}n.-'
Pré'seﬁmdéﬁ"af'th’e; olumus alotg witl

fidensed and cadﬁy'cmﬂppehenswc form
Componcnts of the Table
: Ag@od t&b}e sh‘ou d 'aav'e' th Fbﬂizﬂfiﬂg'fyai‘fs or ti'bini;ﬁémlﬂé‘

for theide it catmn and casy reference i ﬁmm It shouid bc wni‘en on
thetop ofthe ;ablé. :
2) Title of the Table : E
which'is usuativ: Jppear he!
of data, Tt shomd beshora __-_s_i_mp_l;:.

Gy Labfe musl Be g&vers a sm{ablc tifle’ .md it

mtﬂa{ rows, Cap{imsase usaally written i
the m:dd!eof the eciu{'mm\gmbs will bein the extrenic Joft part ofthe table.
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) Bady : The hody of the table is the main component of the tablewhich
contains a mumerical information.
6) Unit of Measurement : The unitof ipeasarement of the figures i the
table (actual data) should always be stated along with the title, 1f different
Lnits are there for rows or columns of the table. these units must be stated
alongwith *stubs” or ‘captions’. If figures are Jarge. they shoutd be rounded
up and the method of rounding should be indicated.
7) Foot Nate ; Any thing from the title; captions and stwbsina table
which cannot be understoud by the reader should be explained in fool
notes, Tt should bein the extreme left patt ofithe table. -
8) Source Note : If the source of the information has not explicitly
contained i the title it is ncluded in the source note, Itnaust be given in
the bottom of the table.
2) What is compottent bar diagram? Draw a component har
diagram with the help of following table.
Fnralaent by geader at schools (in pereent) of children aged
6-14 yearsina district of Bilar

Gender Enrelled (in %} l Diop outs (i-nEI
Boy O | 85

Girl 58.6 l 41.4

All | 78.6 | 22.0

G 20N

Frrobied & Out of School

3) Explain the method of constructing a frequency polygon with
an example, : i

Presentation of the frequencies in the form of rectangles
and joining the mid-points of rectangles is known as frequency
pelygoi.

Frequency polygon curve is constructed with the help ofdiscrete
aswell as contingous series. The following methods we must fatlow while
constructing: [requency polygon.

1) Rectangles of histogram are drawn and then after the mid-points of
the rectangles are joined by a line jolning them.

2y Get the mid points ofthe upper hotizontal side ofeach rectangfe,

3) Join these mid points ofthe adjacent rectangles of the histogram by
straight lines.

4) Ends of the freguency polygon are fo be extended to mid point of
classes at both sides.

5) Labeliing should be properly done and scale of measurement should
be clearly shown.

4) Explain Ogivewith proper diagrams. -

A graphic presentation of cumalative frequency curve, Such
a curve may show a falling or rising trend on the graph paper is
called ogive.

Oclves are constructed from cumulative frequency table, which
are generally made fn “less than' or ‘more than” form, therefore, there are
illowing two types of ogives :

1) Lessthan Ogives  2) More than Ogives,

1} Less than Oglves : This consists in plotting the less than cumulative
frequencles against the upper class boundries ofthe respective classes.
[hese points ave jolned with fee hatd to get less than Ogive:

Such a curve becomes a positively sloping smooth curve, gencr-
wlly rising from lef to right.



W s

5) Draw an arithmetic line graph using following data

2) More than Ogives : In more than ogive. *more than, cumulative ;
Value of import and export of India (in 100 crores)

frequencies are plotted against the lower boundary ofthe jespective classes.

e

—

[t has a decreasing or downward sloping curve from lefl to right. Year Lxports [mports
; in lh_i? case we plot more frequencies in lower size of class and 1980-81 67 125
lesserin the higher classes. It gives the shape ofan clongated °S . upside 1984-85 17 171
down in a smocth form. 1990-91 326 432
Marke o0 mberSL[EE 1S AR More than 1994-95 827 900
; Students cumulative cumulative
frequency frequency )
0-20 06 - 6 Hd |
20--40 0s H 5% |
40-60 33 44 53 B T i
60-80 14 58 20 i /
80-100 06 64 06 1 i //
J i i

Less than and more than ogive curve can explained with the following
diagram,

FLL

Value of Export & Imports
= B ;
et

Y A o
. any + 5 Tnpart
es - 64 &4 . portt
B0 g 20§
58 —+ (11 -%— —
50 b e %
5‘ 255 [ Lt (ieH ey
5 a0 Years
; 35 o . . 3 (3
s VI Project oriented question (5 marks)
% 2e - 1. Ou the basis of data you have collected regarding participa-
200 tion of women in your locality in the below mientioned catego-
:: il vies construct a pie chart.

a) Self employed by Regular salaried employees.

s 1 |L"%__, o
oW ¥ & OB BE W

Marks in Econom
28

¢) Casual wage Iabourers.







CHAPTER - 3
; LIBERALASA"FION, PRIVATISATIONAND
1  Fillin the blanks. (Each question carries one mark)
1) Reforms wercIntroduced during
2) RBlregulates Sector
3)  WTO was foundedin___
4y Taxes on incomes of individuals is catled.
Ans: 1) 1991 2)Financial 3) January 1% 1995
4) Direct Taxes

I Answerthc foﬂomngqmnon in aword /sentence cach. (Each

1L
¢ iny greatcr freedom to eoonomic agents (activitics) to Iakethelr
eclslcms and a reduced rale for the government is called

2. Givethe meamng of Privatisation?
 greate i pgig' l?m' prwa&e enterprﬁeand capsral in the ﬁ.mcmnmg of

"'GcncralAgreeinem on Tarriffs and Trade. &
6. Give the.meaniqg of Direct Tax
Taxes levied on the income and wealth of ihe‘_pco;)_ﬁ-are called
direct taxes. _ '
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What do you mean by Outsourcing?

Outsourcing means gomg outside one’s own orgamsarion 1o obtain
the specialized services of various kindsin time and at lower cost.

8. Whoregulates the financial Sector?
Reserve Bank of India. (R1J)

IIT Answer the foliawmg questions in four sentences each,
(Each qncsboﬁ carries two marks)
L. Givethe meaning of Industrial Licencing.

-

Perntission or an appmval to start an industry with a certain
chpacity ina specified area js called industrial licencing

2. Meation f‘onr Objectives of Trade Policy.

1) Removal of Gowt. control and licencing

23 Ssmplxﬁcatm of] pmcedum for i imports and exports,

3) Removal of restriction on the movement of goods and services.

4) ;Breatm freedom will be given to private people to r&ke their own
ecision,

3. Whatis Fiscal Policy?

The public expenditure and debt policies crfthegommmmt is called
fiscal policy.

4. Whatarc the Services of out Sourcing?

1) Banking Services 2)  Music Recording
3} Filn Editing 4)  Clinical Advice
5) Record Keeping 6)  Maintenance of Accounts

o \\’hat'do"j%\i mean by Disinvestment?

Sale ofa part of equity of pubhc enterprises to private sector is
called di isinvestment,

138

‘Answer the following questions in iwé]vd;sc:nteu'cés -each.

tach question earries four marks)

‘Briefly explain tlie back ground of Economic Reforms in

India,

The origin ofthe financial crisis can be traced fromthe meﬂicrem
management ol the Indian econonty i the | 930*8 The need for
new eco:iomic reforms atose from a number of f‘actom CrTeasons,

‘These reasafs afe;

Slow rate of industrial growth : There was slow rate ofindustrial

‘srowth, because the private sector was subject to 4 rumber of

restrictions, controls, quotas ete.

Poor performance of public sector : The pcrformanca of public

sector enterprises was much below the desired level and a number

_of public sector enterprises run in to losses.
) Deficit balance of payment and Fiscal defic

i There was
serious balance of pavments problem beeause imports exceeds
exports and fiscal deficit rose to 8.5 percent to GDP. Current
account deficit in external balance rose 1o 2.5 percent,

Gulf | Crisis - lran, Iraq war ity 1990 QI ‘was known as Gulf
Crisis. It led to a sharp rise in peteal pri ices in nwnatmnal market.
Ourexportsto gu‘rmuntrlcs fell sharply, but there was 4 steeprise
inimport bill. It madle the balance of payiment posmon further grim.
It compci%cd theg E.(Wcml’ﬂﬂlt to introduce the new economic pelicy
at this situation.

Economic Imbatance : The expendittre incurred by the govern-
ment, particularly on stibsidics and welfire schemes ywas huge, and
the tax coliection was insufficient. This leads economic imbalance
it the economy.

Sharp flacruatxms in stock market ; There were sharp
flactuations in stock market. as the banking institutions were
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subject to strict regulations, while the not banking financial institu-
tions-were not subject to strict regulations,

Write a note on WTO.

World trade organization came into cxié._t cnce on 1* Jam—iary_l 995
as a successor of GATT. WTQ is located in Geneva in Switzer-
land. At present 149 countries have got membership of WTO and
[ndia is a founder member of WO,

The WTO is a properly established permanent world trade
organization It hasa legal status and enjoys privileges and jl‘f.llﬂt_l‘ﬂl'
ties on the same footing as the IMF and the world bank, W1Oisa
“watching dog of international trade™ and it regularly examines

thie trade regimes of individual members.

Objectives of WTO ;
The main objectives of WTO are as follows :

b
2)
3)

4)

5)
6

Favorable Impact of WTO :

WTO provides equal opportunities for all countries in international

trade.

‘To implement multilateral trade agreements among all the member
countries;

‘To set;l_i"e_;dispa tes among member countries on issues related to
multilateral trade. ; i
‘Optimum wtilisation of world resources to incrcasa\pm(_hlclfon and
trade in goods and services. :

To reduce tariffs, subsidies and trade restrictions among all the
member countries.

'Tr; implement liberalisation, privatisation and glcibaﬁ_'sécﬁ_on policics
and removal oftrade discriminations among all countries,

The important favorable impact of WTO are;
140

3
4)
5}

India’s exports oftextile and export of service sector Increase.
india foreign exchange reserves increased
Balance of payments position: has improved
Itincreases intemational competitiveness to all the sector,
Rapid progress ininformation technology and Bio -Tech_noiogy;
Write a note on Trade and Investment policy reforims.
Liberalisation of t rade and investment regime was initiated to
increase it;ti:matidnal_c:o_mrs'eiilivcngss.uf industrial production and
alse foreign investments and technology into the economy. The aim
wasalso o promote the efficicncy ofthe local industries and the
adoption ofmodern technalogies.
To liberalise the economy the govt hag itiplemented various
reforms. They are;
'Rc__:_fcmn_s were introduced to remove trade bartiers and liberalize
foreign trade and investments,
Refbras have removed all quam'iiétim restrictions on exports and
imports.
Reduction of tarif rates.
Removal oflicencing producers for impoits.
Restrictions on export have been _ﬁBeraing:d and export duties have
been reduced,
Briefly explain the financial sector -réf_o_rms.
Financial sector includes financial institutions such as commerclal
banks, investment banks, stock oxehiange operations and forelgn
exchange market, This financial sector is controlied by the RBI _
through various norms and regulations. One ofthe major aims of

- the financial sector reforms is to reduce the role of RBI from

regulater to facilitator of financial sector:

The important financial sectar reforns of NEP are as follows:

t41



5)
9)

2)

'{)u?spil ici

'smfces 0]

Liberalising the restrictions ofbanks and other f'Lr'faﬁcsai institutions,
- The financial sector mfm‘m poin:lcs*bc! to ﬁtw&stabhslunem of new

private sector banks,

The reform policies allowed fercigia baﬂks to fiunction in the

country.

The commercial b.anks haw: been given freedom to open new:
branches‘ on firlfilling certain conditions.

Fwe;gn investment imit in banks is raised to 50 percent,
Banks have been given permission to ra sc'ﬁmds within the country
and abroad.

g o\vn organ lsaﬂon to

2)Masic Recmﬂ g

1y m;ﬂ;matlonal cmnpam&s ('VN

Beﬁer skz land accuracy
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vices oivam)us kmds in time and
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4

————

{ -d man power at lower wages;
Thisls the be'  achicvement byl-he IndianIT industries as i as proved

The mam.advarﬁagesc—f‘bgfsc}mcisg AC;
b Increasing employmen Ojﬁyomimtaes
2) Increasing ;

ues:ms A0 twenty senfences each,
1 Barks)

iberalisation,
técdm 10 economic
decisions and a reduced

i'ms} to take thy

for the go’vern mient.
: I ket oriented cconemy, It reduces Gove-
:ﬁ}!bestoﬁjaya major role in Pheeoonomy




5)

)

b
2

T

5
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2)

48]
2)

mdu tries. 2
Fiuaa-cml SectorReforms Under neweconomrc pohcy several

to deve}op ﬁnancmlmsﬁtmmns and m.stahihze the véiue of] rupee in
the international market.

The Impcr(am financial sector reforms of NEP are as follows:
leemhsmg therestrictions ofbanks and other financial institutions:
'Tﬁe Rﬁancial sec!:of reﬁ)n'& pohclcs led to the establishment of new

Redmhon of corposatm tax on domestic companies ta 30%
Ihi;] irect Taaes 3

| _':'t'%'tc- economy

F'ulahc investment in ﬁgrwuilurasccsor especlﬂiym mﬁﬁmﬂmufe
145
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4. Beonomists identify the poor on the basis of their occupation
and

Ans: 1) Social 2)5 ‘Year plans 3) British Rule
4y Income Assessement

from the government to set uj
schememﬂyw apply Foras

*.‘Pés'f.x shop under which

T Answer the following question in aword /sentence cach,
{(Each question carries one mark)
L. Givethe meaning of poverty,
Inability to sectire the minimum consumption requirements for life, .
health and eﬁicy:’ncy is called poverty,
2. Why the poor are physically weak?
I Malautrition 2. il health 3. Disability
3. Whoare thechuming poor?

: Thas@ who are living sometime abeve paverty line some othertime
below pow:n‘y line maaﬂed ghurnmg poor.

Poverty has many d-smensmal 1t bas to be loc-ked at thlwgh a
variety of | u@catérs

3. Some poorest people do not
4. Starvation. hunge

4. Deﬁne pmrerty-hne a&'pel‘ plalmmg cmmmsbon 3
7  to planni 1y line on the basis of
93 t&}aﬂ 2400 ca{or?es pet person per:
alories per person per day in wbaa
: 4.
5. Whatis fﬁeaﬂ-w&ﬂt'&ﬁﬂn’?
The number of poor cshmatcs asthe pl‘orpcﬂ 3
gk\pw tyline is known as h Landiess labours )Rmaillamﬂ owners.
6. 5,. '_'.-the social factors ﬂmtﬂgger and perpetuate the

Namnai sﬁc:ai sistance programime. 2) Tradition beund
il Suppose youare from a-pow-_fﬁ’nﬁly:g{g:dj you wish to get helpj
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Name the states where poyerty level is far above the
mational poverty level, ol
1) Jammu: Kashmic 2) Kerala 3) Delby
7. Name the states where poverty level is lower than the
nmational poverty level, a1 '
1) Jharkhand  2) Chattisghar 3)Bihar -
8. Howcan creation

ofincome earning assets add ress the prob- 1l

B Income eanﬁng_gssiats't:re;t're'.se!fémp_{qyment_tippom}nin'és.-:
2 Self cmployment opportunities fncrease the Income ofthe people,

generation programme

2) Pradha manthri Rojehar yojana

4). These progiamsme helps to increase the assests,
I List the programmes that aims s'f-impmviﬁg.the- food and

nuftritional status of the poor.
1) Public Distribution system (PDS)

2} Integrated c‘hi{dri-:_n_develcpm'_éi;'f:s'cheme.GCDSj
130 :

3) Mid Day Meals Scheme (MDMS)
12, List the iaccmfs“ﬁm_pmmr_ the successful implemen(ation
of poverty alleviation programn
1) Disrriburionofﬁm@-gﬁg_pﬂfcr'mrswmmmua;. 3
2) Bencfits were illegally taken by the non paor.
3) Insuflicient resourees,

4) Lack of) proper implementation. i

2) Transient Poor + Those pe

\;/ ‘Write the chart of poverty line and
ooty Transi ' HOR

v Answer the following question in twelve sentences each, :
_[Eﬁcli'q&i‘:siion'carﬁéﬁ'fcﬁ'ﬁ-_m'ﬁflﬁ)-

ansient poor and gon-poor; _

1) Chronic Poor : Those people who ate living below poverty line

foralong period are called chronic poor,

Those people who are always live above poverty fine are calied
,|1-'3"ué.r_-poor.mfnc_;ﬂ OGRS ,
Whatdo you mean by Growth orfented approach to poverty
reduction? W, tis not successful in India,
“Increase in domestic product and pereapita income for the
_purpose of reduction of poverty is calied growthonenﬁeda[}
proach?, '
The main obicctive ofthe planning in 1950 s and carly | 960 was
e




based on the economic growth which inereased Gross Domestic Y'isa centrally sponsored scheme S main aim is
Product and percapitaincome to teduice poverty. But growthori- gmﬁﬁcmpimn'}tq he urban WW R
ented apprcm,ch has not succeeded b : i

1) Rapid, gmh of population.
2} Lack of p pm;:»et mpiemenzarioﬁ ocf land mﬁorms

Ly rég?‘amc (REGP) : REGP is
as and small towns for- setting up off

Sxpla in the em;ﬂoymcnt genemtwin pregrammes of poverty
alleviation in India, ;
Income and emplosment génrer&tma appmac h kas Ijecn matlated 5.
an 3rd five yea

ve the Food and Nua' Hibnai Statas ofponr 3

Dur National, Sfaﬁch»ym
fmkﬁ:p

hjec wesofSGSY arc,
1) Promoting micro enterprises.

©2) Swarsajaynathi Shahari Rozgar Yojana (SISRY)
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a)

b)

1

e’

Integrated Child Development Scheme (ICDS) ¢ To tackle

in197s.
) Mid ~ Day Meals Scheme (MDMS) : In 1995, the govern-
~ ment launched the mid day meal (MDM) scheme to improve the
‘nutritional status of school children.

B)
that afins to provide basic infrastructure in rural area are.

the problem of malnatrition and under nutrition. the government of
India launched the integrated child development services (ICDS)

Provide Basic Infrastructure in Rural Areas : The programme

Pradanamantri G ram Sadak Yojana (PMGSY) : The PMGSY.
was launiched in December, 2000, to provide road connectivity to
1.6 lakh unconnected habitations with popufation 0f 500 persons
or more in the rural areas by the end ofthe both plain period,
Pradanamantri Gramodaya Yojana (PMGY) : PMGY was
launched in 2000-2001 in all the states, PMGY initially had st
components viz primary health, primary education, rural shelter,
‘rural drinking water. nutrition and electrification, 5
Critically asses the poverty alleviation programmes of the
government, -

The main objective of Indian planning is to eradicate poverty.
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2) Benefits were iﬁgg_a_!br Taken by the Non Poor : The non poor
.tgo'k:_-:adv_an_rqg_gi)ﬁhe schemes meant for the poor by unfair means
;;h_rc_h went unchecked. That means fon poor afé.-géttiiig. _th.e

hiefits ofthe poverly alleviation programme; '

3) Insaﬂ‘iclent Res ._ oS Government spends huge amount of
mofey on poverty: alioviation programmes. But the amount
aliocated for these programmes is not sufficient.

'Q Lack of Proper Implementation : Poverty alleviation

programines depend upon govermment aind bank offcials for their

et et v
$) LackofActiver articipation of ‘hc'l’.’io.-:;m-]-ligh growthratealone
Bt torduce povty s horisa e e .
i e B e mpfcli!en[a{mmfpowqyggﬂe_v;_aa
ot e o B B el he o ang

VI Answer thef@ﬂﬂwiﬁgq&%iiﬂia.m:}uty s'cn‘emes St

(Each question carries six narks)
L Explain the causes of poverty,

P.{.we_:_t).,_'; Isone of the serious problems of India. Poverty is a wide
.csiprgz}d -qﬁtﬂmmﬂw_] and is one of the outstanding features of
; ﬂf‘:gic-;gmg Lconomics. It s the hopelessness of the people and

teir disopointment, their suffering, The main causes of poverty in
India are as follows, . il i

1) Rapid growth of population : The rate of growth ofpopulation in.
:(;‘gdilfis been dfarger than the rate of growth ofthe COam;yAs -

slt the standard of living £ the people is low paale
remained poor, ' people is low and they have.
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